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Saldeta
HadeAY 25t
SAUMSEANY =T QAR
SA - B H(SH) - NRAY - BES k- HDE2
ERNRSE = , 343,786 ,916,392 3,427,394
= 125,100 125,100 0
< 5,194,060 3,939,560 1,254,500
a 8,024,626 5,851,732 2,172,894
dede 235 1,550,723 8,326,180 3,224,543
S 4,724,000 3,589,000 1,135,000
[ia ,826,723 4,737,180 2,089,543
MEEAY =& 398,180 248,180 150,000
SAMEAY X 398,180 248,180 150,000
207 & 51 OH £ Hl 300,000 150,000 150,000
01 A3 39l 300,000 150,000 150,000
OZRI2MY & ZEYRFES(POOL)
Z & 300,000,000& 300,000 150,000 150,000
4S84y F0 1,152,543 ,078,000 ,074,543
= , 724,000 ,589,000 , 135,000
i ,428,543 4,489,000 ,939,543
ANZ YA LY SEAY 54,543 0 54,543
308 NHXIEHMS0IE 54,543 0 54,543
13/ 2S00HetE & XS A I 54,543 0 54,543
OAlZ 2y dstatd SEAY 54,543,000 54,543 0 54,543
Mot FAXNRAMEH HAE ,670,000 0 ,670,000
= 835,000 0 835,000
[ia 835,000 0 835,000
402 212t A= 01 & ,670,000 0 ,670,000
= 835,000 0 835,000
s 835,000 0 835,000
02 (It 2AILE X (01 ETHR) ,670,000 0 ,670,000
ONst=A JAXAME HE X
1,670,000, 000& ,670,000 0 ,670,000
S 835,000 0 835,000
s 835,000 0 835,000
A0HEAE BBIXIAY 450,000 0 450,000
308 MtXIEHMSOIH 450,000 450,000
M3 2S0HetE & X2 EA I 450,000 450,000
OADIEAIRN ZRIXIAIE XI& 450,000,000 450,000 0 450,000
A=2E e ASHE 75 600,000 0 600,000
£ 300,000 0 300,000
s 300,000 0 300,000
402 2I2tXE2 01 & 600,000 0 600,000
£ 300,000 0 300,000
s 300,000 0 300,000
02 (IR 2AISLE X (01 ETHR) 600,000 0 600,000
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OAEE B 45HH 25 N2
600,000,000 600,000 0 600,000
=) 300,000 0 300,000
= 300,000 0 300,000
HHOIQEAAY XASHMEHE MY BIAEE) 300,000 0 300,000
308 A EHHSOIA 300,000 300,000
07 IXNHMAR S = 300,000 300,000
OOl QEA MY XASHMEHE X AS (3%
HE) 300,000, 000& 300,000 0 300,000
ol E 704,460 584,960 119,500
= 125,100 125,100 0
< 169,540 50,040 119,500
[ia 409,820 409,820 0
FEFEH =4 391,700 272,200 119,500
= 125,100 125,100 0
< 169,540 50,040 119,500
= 97,060 97,060 0
OIFgYy 8 MHXES 119,500 0 119,500
< 119,500 0 119,500
301 LeEBAF 119,500 0 119,500
= 119,500 0 119,500
01 AR 2Z A 53 119,500 0 119,500
O0IFY W HHIURS(LL SYH)
119,500,000& 119,500 0 119,500
< 119,500 0 119,500
HeRas(saEeta) 83,351 0 83,351
BEINE 83,351 0 83,351
HdEE EXAY BHEa 83,351 0 83,351
802 gtet=JIEt 83,351 0 83,351
02 Al - EHIEXSEHEZ 83,351 0 83,351
O&s 2EZH 23 24 82,744,000& 82,744 0 82,744
OAzst Z2&&d 23t =4 (0IX) 607,000 607 0 607




